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Question #1: (30 Points) Select the best answer:-

1) What kind of operations the cpy can perform
A) Arithmetic operations

B) Logical operations

@ Arithmetic and logical
D) None of the above.

2) All are considered as an Input device gxcept(!>= ) |
A)Keyboard B)Scanner C)Microphone @Momtor

3) The instruction cycle will include the four following ordered processes
A) Store, fetch, execute and decode.

B) Fetch, execute, decode and store.

@ Fetch, decode, execute and store.
D) Decode, fetch, execute and store.

4) The storage device which has the highest performance among these is
A)RAM B)Hard disk €)Cache memory @Reglsters



5) &O)s = ( )6
5 B)S6
C)54 D)120

A) 16 bits
4 bytes C)32bytes D) None of the above.

7) The exponen
- A)0111pl011 jhetihe floating point representation for the number 0.0625 is :
' B)01101111 €)01111111 (B) None of the above.

8) Using 8 bi ’
) g 8 bits to represent an integer, the 2’s complement representation of the integer (-

20) is
A)11101101 @11101100 C)00010100 D) None of the above.

9) The representation in Hexadecimal of Capital C in memory using odd parity is
A)C3 @43 )44 D) None of the above.

10) In order to get five random paragraphs in Microsoft word we used the command

rand(S) =rand(4) C)random(5) D)rnd
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Question #2: (25 points)

A) (15%) Using two’s complement with 8 bits representation, solve the following (show/your work
(73)s- (63)9 = ( )2
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kl w The value below represents a float value in the cOMPuter memory using 32-bit floating pgfnt
representation. Find out the decimal value for this representatlon (Show the solution steps)
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Question #3: (25 points)

. . . s
Write an algorithm (pseudo code) that will calculate the following series a

=17 @f 8/5) 1/7 +1/9 - 1/11 +vocrrenie

The calculation wi{l end when the term (2>4l) reach less than 0.001/.




Question #4: (20 points)
A) (9%)

Clearly explain the difference between the following pairs of terms:

i) TCPvsUDP : '
' bocat; copaecHor
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ii) Applzcatzon Layer vs phys:cal Layer: n
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iii) HTTP vs FTP:




B) (5%)
Explain your understanding of the following terms giving also xample (PL‘ d
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What do each of tie iollowmg acronﬁ; Eg for? ‘ : Z_Z




